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ECONOMICS

( Honours Core )
Paper : ECO-HC-4026
( Intermediate Macroeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
S erpiyRd e fia

(a) What is fixed investment?

i o 2

(b) What is government debt?
w1l 99 %2
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(c)

(d)

(e)

(9)

24A/703

(2)

What is effective demand?

st oifEm &2

What is consumption function?

cers I 2

Who provided the Rational Expectation
hypothesis?

LERMS  dOr  SEHFE YRAICT A
SIRGRIRE 7

What is neutral technical progress?
Aracers ogfeare wafs & 9

“Central bank of a country formulates
monetary policy.” Is it true or false?

“g3 (PR I Qe Gt TS o
FE 1 G O (A P9 ?

Who propounded endogenous growth
model?

-

HEEle RIMR BG @I TR Ffifee 2
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(3)

(i Name one new-classical economist.
GEA G-I WAISRT 71 fora o

(/) Mention one limitation of Solow model.
v'a WS Gb1 SaRme Sa 31 |

2. Answer the following questions : 2x5=10

O APIRS T firdl

(a) What is meant by liquidity trap?
oRe] B Jfece & @2

(b} Mention two limitations of classical
theory.
SeEIfPe ogq ¥o1 Hiwemel TEy 74 |

(c) Define golden rule of Solow model.
v IE ETenen TSR wige o |

(d) What is Ricardian equivalence?
Repremm et 2

(e) Mention two elements of endogenous

24A/703

growth.
SEie fRPPE 151 BAmE TEy 791 |
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(4)

3. Answer any four from the following
questions : 5x4=20

ol 2R o/ R Al BiReR e fia
(@) Explain the basic features of new-

classical school of macroeconomic
thought.

AR SLACF SRYRR FH-FEFS (oN63
(Mfere CIFEPTR T 34 |

(b) Explain the objectives of monetary
policy.
cnfirs NSy tferr= Inam <41 |

(c) Explain the budget constraints of the
government.

HIFIN CHHA ALETR 00 <41 |

(d) Explain various motives of demand for
money as indicated by Keynes.

% TS A WA SR SSLTRRE w0
|
Explain the dissimilarities between
Harrod and Domar growth models.
s o ©AR R oI TR CPPIER
N P
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(e)
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(5)

() Discuss various determinants of
business fixed investment.

IeIRE B Rcsm HeiRez e 4 |
4. Answer the following questions : 10x4=40
o PP Ted A

(a) Critically discuss the Solow model of
economic growth.

vy wfiAtee RerE wifEhr  swIen
I TS 41 |

Or / 9[1

Discuss the instability of growth process
of Harrod-Domar models.

@T-R wi3q =%y [t aférm e
01

(b) Critically discuss the life-cycle
hypothesis of consumption function.

Co19 Y FeA-5F SNRCD! AL LA
S 41 |
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(c)

(d)

A (T93

(6)

Or / 911

Critically discuss Fisher’s theory of
optimal intertemporal choice.

R I TSI 6T TGO A
SRR ST 341 |

What is meant by random walk of
consumption expenditure? Discuss
various factors determining con-
sumption function. 3+7=10
Sfafie o1 I S e & @2 o e
AR 9 RfSa SoMAeR SICems <41 |

Or / 947

Discuss the main features of Keynesian
economics. 10

@En R WA SRYEE I
CIPRIR Seem= 247 |

What are the main targets of monetary
policy? Discuss the rule versus
discretion of monetary policy of a
country. 4+6=10
Cifie AR @ wEE B B2 9@ orR
ifie Tfer N W TRA R e

411
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(7)

Or / 911

Discuss the relationship between
technological progress and elements of
endogenous growth. : 10

mfere s W SREhe R
TARFPITRE e Fof el 41 |

* k%
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